.................................................

a(3 ) (rad)
a(d cot(B))

1072

102

910531""!""!""!""!""!"" 103k

10

Ratl

4

3 -2 -1 0 1 2 3 09232 L0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DOQM_T |_or|g|n§l_|owrn
—e— DOQM_TT newbranch_lowpt
—— DQM_TT original_lowpt_pLess
—— DOM_TT newbranch_lowpt _plLess
=10 = 1
IS IS :
S e
- ~
o
o]
e
s 5
©

10_1 i "

I U TN FUUUE FUUUE FOUIE P

1 i mmﬂw T 43 1

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

2 3
TP n (PCA to beamline)




	Contents
	Page 1


